R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, FL-14163.1

A0
____} 1 @ Q @
FoRRs e o)) 0
ussman, inc RN
SR R a l £\
o _ J gL N\
Shes 7008 109-10 180th St. Jamaica, NY 11433 ; o252 |?
L8 o5\ (&
256 88\
Zowm 5o he]
6400 Series 830 ERS
v Q§Z 52 b
EXTRUDED THERMALLY BROKEN B3 2E5NY
99.0" MAX. FRAME WIDTH PReESE §
FIXED ALUMINUM WINDOW . g8 ¢
’ . 95.5" MAX. D.L.O. WIDTH £ § £ 2
IMPACT e 28
8
W
: = = o
/ ¢S 5
GENERAL NOTES // <= 50
/ 2> | oF
1. This product has been evaluated and is in compliance with the 2007 Florida = 0 » % %_:J . 5 =
Building Code (FBC) structural requirements excluding the "High Velocity E 5 ' oy g g%
Humricane Zone" (HVHZ). £ o “s |3 Y
g O 8 [42s
-
2. Product anchors shall be as listed and spaced as shown on details. Anchor £ 4 5 © x 3¢
embedment to base material shall be beyond wall dressing or stucco. X % § e %g
(14
= = 4 <C
3. When used in areas requiring wind borne debris protection this product & i = =
complies with Section 1609.1.2 of the FBC and does not require an impact S 3 # &
resistant covering. This product meets missile level "D" and includes Wind Zone 4 //,‘ 4
as defined in ASTM E1996. Vi
4. For 2x stud framing construction, anchoring of these units shall be the same as '
that shown for 2x buck masonry construction. )
[P
O
5. Site conditions that deviate from the details of this drawing require further (%]
engineering analysis by a licensed engineer or registered architect. El
HORIZONTAL ORIENTATION SHOWN
(VERTICAL ORIENTATION ALSO APPROVED)
Ll
g
TABLE OF CONTENTS .
SHEET# | DESCRIPTION %
1 Typllccl elevation, general notes f:md design pressures oATE: 10,/18,/10
2 Horizonial and vertical cross sections SAE  NT.S
3 Buck and frame anchoring - 2X buck = ol
4 Frame anchoring - 1X buck / direct to masonry owe. B:  JK
5 Bill of materials, glazing detail and components 99.0" X 60.0" 95.5" X 56.5" G1, G2 + 45.0 - 45.0 CHK. By:  LFS
DRAWING NO.:
FL—14163.1
SHEET _1_oF _5

© 2070 R.W. BuIiLDING CONSULTANTS ING.




R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Brawings\FL-14163.dwg, 2.1

SEE DETAILT

el
T

)
1-1/4" MIN
EMB. (TYP.)

| y

/"2 HORIZONTAL CROSS SECTION

EXTERIOR

{TYP.}

N

Dirsct to Masonry
Shown w/ 818" glozing

v
(2
\z/
1-1/4" MIN.
B - EMB. {TYP.)
\\\/\
ST
. OPTIONAL STAINED
/ GLASS WINDOW
INTERIOR |
<
LN < !
) v §
: DETAIL }
oy Comer Construction

NOTES:
1. Glozing stop secured fo frame

D

é_
"p

(=)

|

with ifem #8 or #12 spaced 12" O.C. throughout.

2. Anchor strap secured fo frame with
item #5, one per sirap.

il

/"1 "\ VERTICAL CROSS SECTION

2 / 2X Buck Construction
Shown w/ 1-5/16" glazing

G2

INTERIOR

/37 HORIZONTAL CROSS SECTION

2
A I SEE NOTE 2 {TYP.}

7

OPHONAL STAINED
GLASS WINDOW

1-1/4" MIN.

EMB. {TYP.}

2/ 1xBuck Construction
Shown w/ 9/16" glazing

3 " »
(¢} .
B gm D3
Gw £z R
EANN E’O’é\
.."Jmh.l . . 6
A BN
T
Hee 59y O
p~m 8w a
— - N
L ZQ0 5L E
uﬁ‘ONg‘l%ﬁ\E
O XZ %53 5
3 2EETN 0
g 0 gE"O‘ .
& =56 O
(=Rl =R <N} £
€ Man de 2
" g Y c
-E o = _>J‘
] 5%
E % ol
=]
Q
o
a
=
S8 2
ZZz =
n
z = it
=< ) >0
= 1) =
25 | 99
S Ik 2R
U‘Jm [ia] —en
o =
33| ES
w S0
= SEQ
[
S =
8 g T
& %
a o
>
[Ra]
w
prd
o
w
[nd
Lu
<
()
o
=
DATE: 10/18/10
SCALE: NT.5.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
Fi—14163.1
SHEEY 2 OF 5

© 2010 R.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, 3.1

]2" MAX 4“ 23" MAX 3 5“ ey
O.C.(TYP. TYP. - — - - %
T (TYP) (e T, T "“*o_c_m{p,) | {TYP.} CE
R e A é R T | v
EE £ .- T L T ! e
. {— | ! ! 9 l I -1 B LY ] 01 it ]
i | = S [
PESY | - & LR
e (TYP) A (TYP)
- B R § r
= =i
- —_— ¥
S > o
TR < >
EE .w.z sz P § "l‘_"
= ~o -
P L s | | 5 ! —I L1 S
s R 4 ., e, ;. “‘v\
BUCK ANCHORING FRAME ANCHORING
2X Buck
CONCRETE ANCHOR NOTES:

1. Substifufion of equal concrete anchors from a different supplier may have different edge distance and center distance requirernents.

2. Concrete anchor locations af the comers may be adjusfed to maintain the min. edge distance fo mortar joints. Concrete anchor locations nofed
as "MAX. ON CENTER” must be adjusfed fo maintain the min. edge disfance fo mortar joinis, addifional concrete anchors may be required fo
ensure fhe "MAX. ON CENTER" dirmension are nof exceeded.

3. Concrete anchor table:

ANCHOR | ANCHOR | MIN. . | MIN. CLEARANCETO | MIN. CLEARANCETO -
TYPE |  SHE | EMBEDMENT |  MASONRY EDGE | ADJACENT ANCHOR
Y V& 1-1/4° 2-4r 3
ELCO [JEN 1-1/4" 1" &

0 @
2 8. ¢
: M3 ®
Uw Ex s
= mm -
BN E® o,
FE2Wg N2
go"f_ozé\.
£ L0 L}
EEY o0& -
4 g @ m.Q\D-
2 5m BF .
%o'_'s- %
..onme’é E
> 0o 3 Lo£
® 5.5\ 5
D%gz O w
E_mﬂ)'gq- h:
RN
EREERNS
[+] o
g U c
2 Sut 2
= A o
] 9 g
P i
3
Q
Q
a
= |
. D 2
28 &
== S
xI
z0 9
=L =
0 x
Yoo sy LTS
» 9 |5 =3
o |B o
S Q|3 Kx
w0 t"mq QN
NE
B n:
Q O] x
&)
S
[na]
& =
N
303
)
=
C
w
o
L
<
[
O
=
pare: 10/18/10
scale: NLT.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
Fl —14163.1

SHEET 5 oF 5

20710 R.W. BUILDING CONSLULTANTS INE.

©



R:\A - Projects\Project Folders\proj 1501 - 160C\PF 1572\D. RWBC Drawings\FL-14163.dwg, 4.1

13" MAX. 35" —_
] . O.C.[TYP.) {TYP.) =
4 -44 : jorrry . /m i m&_ E [Py l
N ] i1 T1 ) T1 1 Tvi %
' 6 )TYP)
PantaWe
- - [ [y
DIRECT TO
MASONRY
1X BUCK e
sz
| =
P 1t if 11 I 1
e e ) ——] [ W\
FRAME ANCHORING
1X Buck

Direct to masonry

CONCRETE ANCHOR NOTES:
1. Substitution of equal concrete anchors from a different supplier may have different edge distance and center distance reguirements.

2. Concrele anchor focations af the comers may be adjusied to rnaintfain the min. edge distance to mortar joints. Concrete anchor locations noted

as "MAX. ON CENTER" must be adjusted fo mointain the min. edge distance o morfar joints, additional concrete anchors may be required to

ensure the "MAX. ON CENTER" dimensicn are not exceedsad.
3. Concrete agnchor fable:

nw 3/14" 14" -1/8 a

INC.

P

P.0. Box 230 Valrico FL. 33585
813.659.9197
uthorization No, 9813

BUILDING CONSULTANTS,

Documents Prepared 8y:

Phone No.:
Florida Board of Professional Engineers

Certificate ?

Lyndon F. Schmidt, P.E. No. 43409

J. SUSSMAN INC.
6400 SERIES WINDOW

PART OR ASSEMBLY:

PRODUCT:

FRAME ANCHORING—
1X BUCK / DIRECT TO MASONRY

BY

REVISIONS

L
<
[
S
=
0

oATE: 10/18/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—147163.1

sHEET 4 oF 5

L2010 R.W. BUILDING CONSULTANTS ING,

=



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwyg, 5.1

s

01" —w| fr=— | |

L-f 2.25" —=

| 0.46"

. ANCHOR STRAP

| 088 (=

0.09"
o

f

12 GLAIING STOP
1-5/16" Giazing

CONTNUGUS HEEL BEAD
K DOW CORNING 995

. GLAZING DETANL

1/2" GLASS BITE
POLYSHIM GLAZING TAPE
’* 2/16" THI. GLASS

1/4" HEAT STRENGTHENED

075" VANCEVA PVB
INTERLAYER BY SOLUTIA

1/4" HEAT STRENGTHENED

CAP BEAD DOW CORNING 995
" SIICONE COMPATIBLE SHIM

Qo
*
BILL OF MATERIALS & b {3
f,—, ] [} 2 ':-j . g
5 ﬁa—t 0.83" |-» MEM# | DESCRIPTION MATERIAL AT INE
] 7 A | IXBUCKSG >=0.55 WOOD BES S 2\3 2
i [j:mﬂm]v 009" B | 2XBUCKSG >=0.55 WOOD fegsc Ny
¥ C | 3/32"MAX. SHIM SPACE - 235 8% 4 .
D [1/4"X2-3/4 ELCO OR [TW CONCRETE SCREW STEEL s 8ROEIUE
COBNER KEY GLAZING STOP MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI v 52 53I0Ng
= @ 16 Giang E | 301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 CONCRETE ELID
F__|3/16' X 2-1/4' TW CONCRETE SCREW STEEL LRcE8e §
] : G__|3/16'X1-1/2 TW CONCRETE SCREW STEEL s X 8f 5
3 3 1| FRAME [9/16" GLAZING] ALUM/6063-T5 5 e 2 5
S T -~ 2| FRAME (1-5/18 GLAZING) ALUM/6063-T5 g
S A L | 4| CORNERKEY ALUM/6063T5 S
N ﬁ 5| #10X 3/8" PPH MACHINE SCREW S
T s & | ANCHOR STRAP (4" X 4-1/7') ALUM/606316 S 2.,
b 0,81 N ; 2e NE
7| #14X1-1/2" HWH SMS STEEL =2 Rz
8 | #8X3/4"PPH SMS 5§ 2 o 3
GiAZiNG STOP (11 CLALNG STOF COVER 11| GLAZING STOP COVER ALUM/6063-T5 =4 | gg
%] o LD
12| #8 X 5/8" PPH MACHINE SCREW 5 28 [y ES
13| GLAZING STOP [i-5/16" GLAZING] ALUM/6063-T5 =g |38
14| GLAZING STOP (9/16' GLAZING] ALUM/6063T5 S 1
15| GLAZING STOP (INTERIOR STAINED GLASS) ALUM/6063-15 & o OF
21 | DOW 995 SILICONE 2 ol 25
22 | BACKING ROD FOAM £ E:
&
CONTINUGUS HEEL BEAD
DOW CORNING 995 35 —
e mrf 1 /2" GLASS BITE
POLYSHIM GLAZING TAPE
~ 1-5/16" THK. GLASS 2
G
‘ /—1 /4" HEAT STRENGTHENED 5
¥ 075" VANCEVA PVE o
e+ INTERLAYER BY SOLUTIA
.‘;::\1 /4" HEAT STRENGTHENED
Py
T AIR SPACE
L]
/4 TEMPERED 5
— GLAZING SPACER i
2
CAP BEAD DOW CORNING 995 oate: 10/18/10
3 SIICONE COMPATIBLE SHIM 013 —od [ SRR NTS.
. DWG. BY: JE
CHK. BY: LFS
GLAIING DETAIL 2\ FRAME DRAWING HO.:
15/16" Glazing FL—14163.1

SHEET 5 oF 5

@ 20710 R.W. BUILDING GONSLILTANTS ING.



